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Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.
. This paper consists of one hundred (100} multiple choice type of questions. All questions are compulsory.
, At the commencement of examination, the question bocklet will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (4), (B), {C) and (D}. You have to darken the oval as indicated below on

the correct response against each item.
Example: (A> @ (C> (O3> where (B) is the correct response.

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — II only. If you mark your

response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.
. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except

for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any
other unfair means, such as change of response by scratching or using white fluid, you will render yourself liable to
disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and

must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination,

. Use only Blue/Black Ball point pen.
10.
. There shall be no negative marking.
12,

Use of any calculator or any electronic devices or log table etc., are prohibited.

In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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SOCIOLOGY

Paper - 11

1. Who laid the foundations of the 1. sllotoll A ARAAL WD S allull ?

sociology of knowledge ?
(A) Karl Marx

(B) Karl Manheim

(C) George Homans

(D) Erving Goffman

. Who developed ‘The Verstehen

Approach’ to study sociological

issues and problems ?
(A} Max Weber

(B} Karl Marx

(C) Elton Mayo

(D) Emile Durkheim

. Which sociological perspective

focuses on the stability and order

in society ?

(A) Functionalism

(B) Conflict theory

(C) Symbolic interactionism

(D) Feminism

(A) stel Husl
(B) slcl NoABSH

(C} 2o &M

(D} 82clot SUsNat

. AHEs Rl HEIRA B MR

weAY HI2 Ul addsel AP’ 519
([Qsuical ?
(A) Asy AR

(B) stcl s
(C) vleeat W2l
(D) AHSH euvH

. UHIH RARAL Weal cacU (order)

Guz s AHErulla uRQed Slact
t2llol WU B ?

(A) sllesale
(B) dudaél Rgid

(C) YQstens wiaBalae

(D) ettdlale
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4. Who made distinction between
instrumental action and strategic
action ?

(A) Harold Garfinkel
(B) Michel Foucault
(C) Anthony Giddens

(D) Jurgen Habermas

5. Match List — I with List - IT and select
the correct answer from the codes
given below.

List - I

Haroid
Garfinkel

Erving
Goffman

Alfred
Schutz

. Jurgen

Habermas

Codes :

(A)
(B)
\&)
(D)

=
o] -

DN W N6

List - II

. Structural

Change in the
Public Sphere

. Phenomenology

of the Social
World

. Studies in

Ethnomethodology

. The Presentation

of Self in
Everyday Life

w A~ A oA

4. GUsWQUeHs Ba ua cysleus (Gau
a2 de slQ ggdact ?

(A) 3Aes AgsA
(B) IS5 Slslce

(C) Aotllefl ollsort
(D) 2olet g1t

5. L€ 1 wal ALEL- 11 ustll oA 2w
st ool QLA el % 53,

Cadl-1 A€l-11

a. &AeS 1. 932 _UHL
REsc U HS
uRada

b. S2clla 2. AHI®s Qusll
St weoll

O

. IekS 92 3. dis [Q[R

[Qstotai
AU
d. oolel 4. AlFel eiotoll
SGRHIY 2Ryl
Add :
a b c d
W 3 1 2 4
® 1 2 3 4
© 4 1 2 3
M 3 4 2 1




6. Who has the opinion that Indian

tribes as backward Hindus ?
(A) G. S. Ghurye

(B) M. N. Srinivas

(C) M. K. Gandhi

(D) R. K. Mukerjee

. According to whom ‘agency and

structure’ are a duality ?
(A) Pierre Bourdieu

(B) Manuel Castells

(C) Anthony Giddens

(D) Michel Foucault

. Who is the author of the book entitled

“Hind Swaraj” ?

(A) M. K. Gandhi
(B) B. R. Ambedkar
(C) G. S. Ghurye
(D) M. N. Srinivas

. Who contributed for the classical

work “Mind, Self and Society” ?
(A) Clifford Geertz

(B} G. H. Mead

(C) Alfred Schutz

(D} A. Giddens

6. cllclal A cll2A B usid Bog 8.
adl vyl slell &l ?
(A) 2. A yA
(B) A, Aot. slllAAcuat
(C) AH. ¥. auitll
(D) AIR. 3. Y8

7. “Ultaud el UsldA” A Gyl B
g Sloj 539 & ?
(A) a2 oll€ly
(B) NoAc 3UR
(C) Rotllolt 5ot

(D) HIES s Slslee

8. “(30€ WRAY” Yrcisoll Aus B3 B ?
(A) A ¥, (il
(B) ofl. 2. wiolssR

(C) ®. A yo
(D) AN, Aet. slllAecurt

9. “UIESes, ACH Vs WS Yl s13
A Slo] YEloL B ?

(A) scll\s ollE
(B) %. A, s
(C) 2ucks Yg»

(D) A, allset
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10. Whose view of culture is a response
to human needs ?

(A) Radcliffe Brown

(B) Malinowski, B.

(C) G. H. Mead

(D) Talcott Parsons

11. Match List — I with List — II.

List -1

a. Descriptive

b. Exploratory 2.

o

d. Experimental 4.

Codes :

a b
A 2 3
B) 3 2
< 1 2
D) 2 3

1.

. Explanatory 3.

= W = &~ 0

List - II

To explain
causes of
problems

Answers
questions of
who, what,
when, how

Attempts to
gain better
understanding
of different
dimensions of
the problem

Conducts by
controlling
one or more
variables

EE I T T o T - N

8loj Heled B ?

(A) 2s5clls GGt
(B) AlANazdl, oll.

(€) %. AU Hls

(D) 2l sz Waledt

ALEl- 1
a. clRlolleMs

b. WANBUHS

c. [AaReuss

d. YAleHs

Add :

a b
a 2 3
B 3 2
© 1 2
D 2 3

10. 2igld A MotaszRadl Yol 52 8 Aq

11. 2l€l-1 @ €l-11 Anl.

adl-n

1. MR
5120Q0ell Wl
e

2. SlB1-9l M-
sU2-5¢ A
(Qett weled M2

3. AL
QRu
uReulel

ay W3l
anogedl
Nnciellel
Yy

4. As 3 ay
URaelstl
[l
adgs we

— W o= B0
e -

N e
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12.

13.

14.

15.

“Economic instability hampers
development of an establishment.”
What does this statement imply in
social research ?

(A) Hypothesis
(C) Variable

(B) Theory
(D) Analysis

In which type of research questions
the responses fall in two or more
categories ?

(A) Ordinal questions
(B) Internal questions
(C) Nominal questions

(D) Contingency questions

Which sociological method is derived
from legal studies ?

(A) Statistical method
{B) Functional method
(C) Historical method
(D) Case study method

Which research techniques/methods
were first devised by psychologists
and psychiatrists concerned with the
diagnosis and treatment of patients
suffering from emotional disorders ?

(A) Observation
{B) Projective
{C) Participant observation

(D) Case study

12.

13.

14.

15.

WEs WRARAL [AsiM WKl
URLUS B,
L [Aulet 9 YyuA & ?

(B) Rgict

(D) (Q2Anu

(A) GUsCUait

(C) uRae]

Yolltlotoll sl USIRHL Ysllell GriRlal
A ¥ Agdl ay AQMH el WA 8§ ?

(A) SHALAUS U
(B} UicARs ya
(C} HHRL Yl
(D) uajuibls Yy

slofoll e Gurel 58 AHIwaR{la
ugld Gatdl vudl & 2

(A) lissigla ugld

(B) stalens ugld

(€) AlAsl@s ugld

(D) WsH AeAH Ugld

AU HS 2@ Ulsial €A
HI2 Pletol AR ARaHL Alyaur

56 Aot YYEABMA/ usldull
Holld sitlas-HeAlRts WA
dol@ld & ?

(A) A&l

(B) y&ugl

(C) ueewdll @3lawal

(D) AsH weAL™
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16. To marry a woman of a higher caste | 16. dl Gau silAui coet 52 B Ax 58 B

is called

S (A) yldcn [Qae
(A) Hypogamy

(B) Hypergamy (B) uojclld [Aaue

(C) Castegamy (C) sl [Qeue

(D) Sororate (D) Aol Qe

17. Non-fraternal polyandry is practiced | 17. Weld$ Mgu[arq AR BHL el

among HA B

(A} Khasis of Garo Hills (A) U UsLSell WLlHL
(B) Nayars of Malabar Hills (B) HAGUR Udctoll ell2tHL
(C) Todas of Nilgiri Hills (C) olletalldl udcton Asini
(D) Ho of Rajmahal Hills (D) AXHEA Udctolt ‘ML

18. Which part of the Rigveda has given | 18. $A€all Sl HHL UR o

only four castes called varnas ? el sdadd B ?
(A} Purusha-Sukta (A) Y™ Y5l
(B} Suruti (B) 4ld
(C) Vaisakha (C) dauwu
(D) Mimamsa (D) {lnizu
19. Which of the following concepts 19. o{lAetniell 520 veud Gudoul
denote upward social mobility ? stQelletal 9 ® 2
1. Tribalisation 1. wR alls?eL
2. Sanskritisation . %ll%@[afs?@,l
3. Westernisation 3. ufEln 520
4. Elite-emulation 4. 0la qaiaj WU 53
Codes : Wd :
(A) 2 and 3 (B) Only 1 (A) 2 ua 3 (B) {1
(C) 2, 3 and 4 (D) 2 and 4 (C) 2, 3l 4 (D) 2 ol 4




20. What were the land revenue

settlements introduced by the
British in India ?

1. The Zamindari System
2. The Mahalwari System
3. The Ryotwari System
4. The Patwari System

Codes :

(A) 1 and 2
(B) Only 1
(C)1,2and 3
(D) 2 and 4

21. Which of the following is deliberately
created and voluntary ?

(A) Community
(B) Institution
(C) Association

(D) Social system

22. Who classified societies into simple,
compound, doubly compound,

trebly compound ?
(A) Karl Marx
(B) Auguste Comte
(C) P. Scorokin

(D) H. Spencer

20. [@AR2AAN e dHl wHlet 52A2( dau
otHell iRt sl ?

1. ¥ loteldl cauaren
2. usleadl cacel
3. adadl caca
4. w2aldl caarel

Al :

(A) 1 ua 2

(B) HIA 1

(C) 1,2 Ua 3

(D) 2 AUa 4

21. o{lAcmigll FpAeYds ua HRAA
Ul @l B,

(A) AHEL

(B) dzew

(C) dsn

(D) WHYS clcel

22, YA 518 adlsd st B- Bui A€,
BB, Blau B4, Ay AE

(A) siel s
(B) vloRe sl
(C) Ul. W\ Slet

(D) AU. ¥WoM?

m—
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23.

24.

25.

26.

Which among the following is NOT
correct regarding social position ?

(A) Social position may not be
occupied by individuals but by
organizations

{B) Social position may be occupied
by more than one person

(C) Social position is occupied by
only one person

(D) Same person occupies many
social positions

To prepare one for future roles is
called

(A) Futurization
(B) Prediction
(C) Anticipatory socialization

(D) Internalization

A cluster of related traits is called
(A) Culture norms

(B) Culture complex

(C) Culture lag

(D) Cultural uniformity

What is the term for the practice of
viewing one’s own culture as superior
to others and using it as a standard
for judging other cultures ?

(A} Cultural relativism
(B} Ethnocentrism

(C) Multiculturalism
(D) Cultural pluralism

23, UHBs et Aoi@d A Aowmiell g

ALY olefl ?
(A) WHUBS Ut Al Anadl «tell
U qolset w8

(B) AMUBS et s sl Ay
csaul Aad 8

(C) AHUEs Ut WS cAlS % Yl
52 8

(D) A o cAlsl Was UHURS 2€let
Yl 53 8

24, eldreell oEst MR dauR s

sl85a 58 B

(A) eldwszel

(B) elldrragll

(C) yd AulRd uHws
(D) ictdls2w

25, ol caLlol PHuUla 53 8

(A) dizslds €200
(B) ¥Ra sl

(C) dirglAs el
(D) islds AMletcl

26. Ulcllefl 2AslA oflon sl Gudr & A

HRell @Aela YHiEld & Adcl ciastaMi
5185 gl Hetcall Wl UeslA 2eel
VUL Aol 9 53 B ?

(A) Alslds et

(B) 53l

(C) BBl daslQeaue

(D) ulxglds wgldud




27. In which type of community people
are united through feeling ?
(A) Gesellschaft
(B) Gemeinschaft

(C) Great community

(D) Little community

28. Who maintained that role is the
dynamic aspect of status ?

(A) Max Weber

{(B) Emile Durkheim
(C) Ralph Linton
(D) R. K. Merton

29, Established modes of thought and
action is called

{A) Culture

(B) Personality
{C) Behavior
(D) Customs

30. In which one, do married couples go
to live with a brother of the groom’s
mother ?

(A) Patrilocal residence
(B) Matrilocal residence

(C) Avunculocal residence

(D) Neo-local residence

27. gl Yslell AHelaHl sl cuolelell
RsAc s & ?
(A) BUASIT
(B) Blotesise
(C) {2l uYeld
(D) olloll UHELY

28. ¢Ast A RAAeu aldellet Wl B
(A) A5 AulR
(B) AHEeL £VlH
(C) Acs leat

(D) WR. ¥, Héat

29. yrulld ([Qalell Ad ua Gaua
56 8
(a) sld
(B} calsaicet
(C) adet
(D) Raesl

30. Wil éuld écl 12 ueell Hicllal
eR ¥l WA & ol

(A) Adacus ¥s610
(B) Hiclio] 28611
(C) HMLe] 28610

(D) etc-aullAs 235181
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31.

32.

33.

According to traditional
anthropologists, conjugal
relationship may be expressed as

The ceremony that marks the
transition from one stage of life to
the next is called

{A) Religiosity
(B) Ritualism
(C) Retreatism

(D) Rites of passage

The study of inequality may be traced
from

(A) Hobbes and Locke
(B) Plato and Aristotle
(C) Marx and Engels
(D) Marx and Weber

31.

32.

33.

U2uRotd Hietaaullalletl 1A daulds
Aol (Arcldl asla

o) A— /N

A5 dotssiHiel ol dossiul
Wlelld? HIZoll Gtclal 53 &

(A) wblsc

(B) (5ausis

() Uldes sl

(D) Urs1R UREL 52l

alt slalniell WAHLAAL vieu™
sAA B AHL

(A) 8oy wUal s
(B) YA2L Aol ARRlecd

(C) s ol Ao
(D) Hisd wA doR

e
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34.

35.

36.

37.

Modernization of the Indian society
is associated with

(A) Cultural renaissance
(B) Economic development
(C) Acceptance of western life-style

{D) Changes in cognitive structure

Bhoodan Movement had its beginning
in which State ?

(A) Madhya Pradesh
(B) Bihar

(C) West Bengal

(D) Andhra Pradesh

Who authored the book “Studies in
Agrarian Social Structure” ?

(A} M. N. Srinivas
(B) Andre Beteille
(C) F. G. Bailey
(D) S. Jodhkar

“Feeding the Baniya : Peasants

and Usurers in Western India” was
authored by whom ?

(A} L. Dumont

(B) Surajit Sinha

(C) David Hardiman
(D) Cohn, Bernard S.

34.

35.

36.

37.

etRcllal Aesell wyldsal Boll
AslAd 8.
(A) UirglAs ota oyd
(B) vulls Qs
(€) wBHl e d@all 2elisiz
(D) cl&s/Ageis uaALAAH
URe ot

eetot Uncmell AFuUA sAL AXRJUHL
ugf ?

(A) M2l ytal

(B) GlalR

(C) uln cioum

(D) iy yital

s AHRS UALAN" YredSell Aus
slaL e ?

(A) V. Aat. sllAcux

(B) uig AelSedl

(C) As. . Al

(D) A B uUs

“Gslot L sioflan: Ulneadt Blos Yl
ol Aeel Bleda” 51 Al & ?

(A) A syHlot
(B) Yot [el
(C) 3[As &Lsuat

(D) $l&et, oletlS. A,




ke

38.

39.

40.

Read the Assertion (A) and Reason (R}
and give the correct answer from the
codes given below.

Assertion (A) : Structure is useless
without function.

Reason (R) : Function is only
accomplished through some
structure.

Codes :

(A) Both (A) and (R) are true and (R}
is the correct explanation for {A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation for (A)

(C) (A) is true but, (R) is false

(D) (A) is false but, (R} is true

‘An agglomeration of towns and cities
into an unbroken urban environment’
refers to

{A) Contradiction
(B) Conurbation
(C) Convergence
(D) Cohabitation

The belief that a particular political
order is just and valid refers to

(A) Legitimacy
(B) Estate

(C) Ideal type
(D) Melting pot

38.

39.

40.

ol A [Auiet (A) Ual 51RQ (R)
clA Wl A welod o{lA WL

[Ascuiall wiie s

[Qeitet (A) : 5121 cdlRe] AUsLAA

A5y B,

5128 (R) : 5t 21 WA S UL dA

gL o uRydl 53l asia,

dsu :

(A) oial (A) U (R)HL A5 WY B
ual (R) A (A) all YAl HIE ALY
8

(B) ¢t (A) dal (R)HL s U] & sl
(R) A (A)ell YUl HR2
Uy el

(C) (A) WY & Ul (R) WI§ &

(D) (A) Wi ® ual (R) U3 B

‘5206]L W 2ABAeAL AHLAS) aalFla
uAleRR w2 AN B, A €20 B

(A) (R~
(B) Ass21
(C) bos wElagu
(D) gy

B Hlocll B ¥ AlssU Awsla oA
Alssy A v 20a B,

(A) staleatct

(B) Metsd otz
(C) vl 3U/YUsIR
(D) Aol We

—
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41.

42.

43.

According to Max Weber, what is the
central characteristic of bureaucracy ?

(A) Flexibility
(B) Efficiency
(C) Equality
(D) Informality

Find out the sequence in which the
following Acts pertaining to women
were passed.

Immoral Traffic (Prevention) Act
Child Marriage Restraint Act
The Dowry Prohibition Act

oW b=

The Protection of Women from
Domestic Violence Act

Codes :

(A) 1,3,2and 4

(B) 3,1, 4 and 2

(C)2,1,3and 4

(D) 1,4,3and 2

N. R. H. M. stands for
{(A) National Rural Health Ministry

{B) National Rural Health
Management

{C) National Rural Health and
Medical Care

(D) National Rural Health Mission

41, MAsU e Yol sllsaU8lell Soslan
AR 5 B ?
(A) RA[QRUUSAL
(B) &Hcll
(C) dHlotetl
(D) waAluW RSl

42, o Aol #2A Aol slAERA YAR
g2l A Yool sHlefAR el

1. walds calur (uestatd) stuel
2. Ll Aol WestAd SlAEL
3. &% yldoius siugl
4. w¢ Bl AR Al 281
WUl sl2EL
Ul :
(A} 1,3, 2 ua 4
(B} 3,1, 4 ol 2
(C) 2, 1, 3 ¥l 4
(D) 1, 4, 3 ¥l 2

43. N.R. H. M. g2id &
(A) Agletdt 32 deat HlolE)
(B) Aol 3¢ dc& NalwNod

(C) Adloled 3R dcal Aes ABsEA 32

(D) aAgletdl 3R 3¢ [Aatot
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44, The three-tier system of Panchayati
Raj was recommended by
(A} Kaka Kalelkar Committee
(B) Simon Commission
(C) Balwant Rai Mehta Committee

(D) Jayaprakash Narayan Committee

45. Which of the following are often
regarded as characterizing
globalization ?

(A) Increasing space, shrinking time,
disappearing borders

(B) Shrinking space, shrinking time,
disappearing borders

{C) Shrinking space, strengthening
borders, increasing time

(D) Increasing time, increasing
space, disappearing borders

46. Which among the following are

change resisting movements ?
1. Anti-Reservation Movement
2. Bhoodan Movement

3. National Movement

4. Sati Movement

Codes :
(A) 1,2 and 3 (B} Only 4
(C} 2,3 and 4 (D) 1 and 4

44, Jyaadl axeell Qrddla caqal 518
YUAd 8 ?

(A) s1sL slAas: sMél

(B) WS HA s(alet

(C) oluielct AU H3AL sME
(D) waysial sirial ARAR

45. {lAcuuidl dAs0 ot et iy
s Al WRUAA B, A 53 B ?

(A) U Ul gf&, AsRddl,
ulle] Aag Ud.

(B) wRUell AsRddl, AsRdc,
AluRuiulle] uUagl g

(C) os22ile{l AR, flmt 2uell
HoroleS, yHaAMl 9(&

(D) aH2AHL g, wRUML g,
AlHdvualsdl usgaual

46. o{|Aotnizll 585 Rt YlAAus
AOUN &,

1. el [QAU anan
2. GElol AN

3. Azl unan

4. ucl yau unaan

Axd :
(A) 1,2 wa 3 (B) x4
(C) 2, 3 vla\ 4 (D) 1 ol 4

—
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47.

48.

49.

In simple societies political institutions

were based on the principle of
(A} Supremacy of the ruler

(B} Rule of law

(C) Code of conduct

(D) Hierarchy of power holding

Which of the following are attributes

of democracy ?

1. Political parties

2. Electorate

3. Independent judiciary

4. Universal adult franchise

Codes :

(A) 1 and 2

(B) 1,3 and 4
(C)1,2,3and 4
(D) 1,2 and 4

According to Mahatma Gandhi, the
most important part of a State is

(A) Law
(B) Society
(C) Individual

(D) Institutions

47.

48.

49.

ALEL MHHL 2w flat Areul
58 Rgidloll Wl GuR Ul B,

(A) ausell Grucl

(B) sl2AELle] 2oL

(C) clelgjseil (Al

(D) Acll URQL scllell stlsy

o{lActriell Asaudlett dael s & ?
1. Awsla ual

2. gl
3. wWdA RudA

4. Wwd@s Yue yeA0L

LERE

(A) 1 ua 2

(B) 1, 3w\ 4
€) 1,2, 3u 4

(D) 1, 2 va 4

HaleHL Ul AR AU HYu
[Qewol &

(A) slUEL
(B) 1%
(C) cufst
(D)
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50.

51.

52.

Rights which are given to the citizen
by the Constitution but which cannot
be touched by the State is known as

(A) Legal Rights

(B) Moral Rights

{C) Political Rights

(D) Fundamental Rights

Match List — [ with List — II.

List -1 List - II

a. Rampura 1. S. C. Dubey

b. Sripuram 2. M. N. Srinivas

c. Shamirpet 3. A. Beteille
d. Ramkheri 4. A. C. Mayer
Codes :
a b ¢ d
(A) 1 2 3 4
(B) 1 2 4 3
c 2 3 1 4
D) 2 3 4 1

Which type of tables are used in
exploratory analysis where the
researcher is more concerned with
describing the frequency than with

studying its correlates ?
(A) Multivariate  (B) Univariate

(C) Bivariate (D) Trivariate

50. Gt Gl AIRSA % UEs13

WU © U A% gl el asial

aofl. A wella &
(A) staeLsla v@RsR

(B) alas w@s1
(C) A%¥sla w@sIA
(D) ynejet w@sA

51. Al€l-1 ual AT A A,

adl-1 alél-1
a. AHYRL 1. Al gd
b. slly:m 2. U, Vot
slllAcuy

c. ylale 3. A daell
d. AHWIL 4, A Al Qa2
Add :

a b ¢ d
A) 1 2 3 4
B 1 2 4 3
© 2 3 1 4
D 2 3 4 1

52. WoANRUHS ([QaANRIHL U SlsLell

Guallol llus WA ay [[Aed uld

B % cdlet M2 UsAGiUA WA
scll wg wa &

(B) ¥HuRacl
(D) BuRacl

(A4) tguRac]
(C) BuRacl
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53.

54.

55.

Dividing a student population of a
college into first, second, third and
fourth years and then drawing a
simple random sample from each

group is an example of
(A) Systematic sampling
(B) Random sampling
(C) Cluster sampling

(D) Stratified sampling

Which of the following is a measure

of dispersion ?

(A) Mean

(B) Phi coefficient

(C} Standard deviation

(D} Standard error

According to whom “social tolerance”
is one of the important characteristic

of urban community ?
(A) Robert Park

(B) Louis Wirth

(C) Kingsley Davis

(D) James Quinn

53.

54.

55.

slAoell [Aenellell ardl @Qeulzd

531 BHl yun oflon Al 20l A
ctollal A3 A Axell €35
gumidll A A Gelg B

(A) ARV [RAesglat

(B) qAQ\s [leslat
(C) BHull (Reslot

(D) *tild [lesla

ol AotiHiell YARMLIel Hiuot 53 & ?
(A) Heus

(B) 8l olRus

(€) YHelld [Quest

(D) yHRlld ¢t

“WHUBS WUEWA A 1R AHEL2Le]

BOLRLo] AMGL Bloll Yy P B ?

(A) 2ol W
(B) ¢fu ad
(C) Bora 3w
(D) B 5{lot

]
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56. Who has pointed out that the villages | 56. dUHSIAM] ‘(A dAlAA ol UM

used to have a Jati Panchayat’ and aad’ ol Gudol spAA 8, a sldl

Village Panchayat’ ? £l D ?

(A) M. N. Srinivas (A) B, Bet. slllAcuxt

(B) F. G. Bailey (B) As. %. Al

(C) S. C. Dube (©) A dl. g

(D) A. Beteille (D) A. Aasell

57. Match List - I with List — IL 57. A€l-1 WA ael-1 AnAL

List - I List - II AEl-1 Ael-m

a. Chipko 1. Odisha a. AUs unan 1. AERU
Movement b. WAz Al 2. ¥R

b. Silent Valley 2. Gujarat AN
Movement

c. eblel oA 3. Al oug
¢. Narmada Bachao 3. Tamil Nadu

Movement dqdn
d. Baliyapal 4. Uttarakhand d. sl 4. GriRuws
Movement Lndmn
Codes : Add ¢
a b ¢ d a b ¢ d
(A 4 3 2 1 A 4 3 2 1
B) 1 2 4 3 B) 1 2 4 3
© 2 3 4 1 © 2 3 4 1

Dby 3 4 1 2 D)y 3 4 1 2
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58.

59.

60.

The book “Caste in Indian Politics”
is written by

(A) M. N. Srinivas
(B) F. G. Bailey

(C) Rajani Kothari
(D) Andre Beteille

An ‘acephalous’ society is one in
which

(A) Members have low intelligence
(B) There is no formal head

(C) There is no political system
(D) Anarchy prevails

Read the Assertion (A) and Reason (R)
and give the correct answer from
the codes given below.

Assertion (A) : Ecological
degradation leads to environmental
pollution.

Reason (R) : Deforestation,
construction of big dams and
other developmental activities
are responsible for ecological
degradation.

Codes :

{(A) Both (A) and (R} are true, but (R) is
not the correct explanation of (A)

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R} is true

58.

59.

60.

“s122 Bel BB aAct VAR Yrelsall
Aus B

(A) A Vet iR
(B) s, %. Ascl

(C) 2%{l Slsldl

(D) s A2l

‘AAZAR UHY A B 3 BH]

(4) deallell olllgs aHdl 2l du &
(B) Al 2uadls ast aldl otelt
(C) Aul A%l cleren 8l «1ell
(D) vigalell ueilcl sl 8

o{lA WA [Auilat (A) Ul 512 (R)
Al WA AR waied oA el
QscHiell uwdie s

Quiet (A) : URRA(A 2ulaL
WUl (ecological degradation)

yallc0lel YENRL s €17l nau &

$12QL (R) : %olcloll oltal, 2l 3Hq]

[Aiel Al o2l [Rslaes Yol

URRAREA aullal vl Ucot Hi2

FAUGER B.

Udd :

(A) (A) AU (R) tlal URAL B gL (R)
A (A)ell U umcdl otell

(B) (A) A (R) ¢ial AU & ua (R)
A (A)ell Wl wuxA 8

(C) (A) WY B Ul (R) W 8

(D) (A) W& & gl (R) Wy B
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62.

63.

64.

The headquarters of UNESCO is
located at which place ?

{A) New York (B) London
(C) Paris (D) Geneva

“Deschooling Society” is authored by
whom ?

{A) Emile Durkheim
(B} Ivan Illich

(C) Max Weber

{D) John Dewey

PM e-Vidya is initiated for what
purpose ?

(A) For helping higher education
(B) For advanced intellectual activity

(C) For exploring various social
media activities

(D) For unifying digital/online/
on-air education for school
going children

The UGC portal ‘e-SARTS’ is for
what ?

(A} Special Assistance for Research
and Training in Sciences

(B) Scholarship-fellowship Award
Registration Tracking System

(C) Special Assistance for Research
in Technology and Sciences

(D) Support for Academic and
Research Training in
Social Sciences

61.

62.

63.

64.

UNESCO of Hul Has sl @UR
WA B ?
(A) syl
(C) AR

(B) csel
(D) *pella

‘Slagcllot Waadl’ ol Qus
501 & ?

(A) BHSH evlH

(B) ot Scllu

(C) AsU AWR

(D) %¥8lal SYS

Yl 2. S-[Qan sl dqell 243

5AAA B ?

(A) G [Qlagl uela W2

(B) clllgs ygRulla aual W2

(C) A®s e lell gl
[Ardd sRal uR

(D) oA el cllasloll Bl
B@2c AHteatdl /xoctet /
wlet-Bl2 ([@ael 12

UGC of WeH ‘e-SARTS all HIi2 & ?

(A) ([Qsiatui st il AUAHHL
Y Ul ML

B) WletRellu-3cllellu NSl
R} AA AU cAcAUL

(C) [Astiot U 250Nl UsNUatHL
QA uela W2

(D) (Qausla wal Aot diclln
AH(Bs [@stetdl HEEIU Ul
2
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65.

66.

67.

68.

In which year was the Hindu Widow’s
Re-marriage Act passed ?

(A) 1974
(B) 1955
(C) 1956
(D) 1856

Which of the following sociologists
introduced the term “Rurban” ?

(A) C. Galpin

(B) Homer Hoyt

(C) E. E. Bergel

(D) Maclver and Page

Which of the following is NOT a
measure of central tendency ?

(A) Mode

(B) Mean

(C) Median

(D) Chi-square

“Applying a general principle to a
specific case establishes a logical
relationship” refers to which
method /logic of research ?

{A) Deductive
(B) Inductive
(C) Numeric

(D) Textual

65. ([Qucl ¥l yelldasall slatl s
i Hi YR s2ue ?

(A) 1e9Y
(B) 1¢UU
(C) 1eus
(D) q¢us

olActiuiell san dHrauRlla
‘AUHs2R’ (Rurban) vt 29 sl ?
(a) dl. sl let

(B) &R &l

(C) &. 8. wdlcd

(D) AsTaR Wes Uy

66.

ol Astmiell 53] Heanadl RAA U
a?fl ?

(A) Glges
(B) Htas
(C) Mt

(D) sLE5-2%a1R

67.

AHLA Rgiet co] 531 Alssu Bl

dAllSs doiu wd s A s
uald/dolluet df & ?

68.

(A) ot
(B) Mt
(C) divauls

(D) W&AYrcissla
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69. The first scientific step towards | 69. M| CL@« Hi2o] YaH dsuls Aot

70.

71.

72.

growth of language is believed to be
(A) Voice of stages

(B) Imitation

(C) Symbol

(D) Emotions

The normative ideal of dominant
masculinity is called

(A) Emphasized masculinity
(B) Western masculinity
(C) Aggressive masculinity

(D) Hegemonic masculinity

When was the term “Sustainable
Development” came into existence ?

(A) 1992
(B) 1987
(C) 1980
(D) 1978

Who has written the book “The
Environment : From Surplus to
Scarcity” ?

(A) Allan Schnaiberg
(B) A.P.J. Mol

(C) Ulrich Beck

(D) Amartya Sen

70.

71.

72.

HiolclH] A &

(A) AcFoll AUsstA
(B) {520

(C) ulds

(D) aowll

(RQUHS e Ygjeal HRLCAL
Yl 53 8

(A) &d Yol Yned

(B) W@l yu«

(C) WISHS Yl

(D) Yejrcl HRACR Y eel

“251G ([As1¥” (Sustainable
Development) oll VU g2l
URAcclH] B ?

(A) 1ceR

(B) 1¢¢9

(C) 1eco

(D) e8¢

‘ualcre: uEse wed Yl Yuds
S0 @vj B ?

(A) Uctel YUUSHA

(B) A ULt

(C) wu@u As

(D) e et




73. Which State is ranked ‘one’ in NITI
Ayog’s energy and climate index for

73. o{l[Q 242021 NITI Ayog oll Gl s
yLollecll HI2 2022 YR Hi 53 AU

74.

20227

YyuH 2\ ?

(A) Maharashtra (A) HelRiXg
(B} Gujarat (B) 9%l
(C) Kerala (C) BRAcu
(D) Karnataka (D) seles

What is the abiotic component of the
ecosystem ?

(A) Organic compound
(B) Micro consumer
(C) Plant

(D) Microbe

74.

wallarella ctaaunl uzlds
(Abiotic) Y25 §3 B ?

(A) ¥As Bl

(B) yeH cuasdl
(C) 8ls (plant)

(D) YgH v

75. ‘A form of culture that consists of fine | 75. ‘ds(detl 2a3unl scll, W,
art, music and literature’ refers to AR WAL &2t B A
(A) Low culture (A) et drsld
(B) Culture trait (B) sldetl cal
(C) High culture (C) Gy sld

(D) Culture universal

(D) rgldell WdRscu

76. The term ‘Gerontology’ refers to 76. ‘Gerontology’ oll VUl 9 €2la & ?
what ?
(a) 94t
(A) the aged
(B) the youth (B) gqloﬂ
(C) the children (C) A
(D} the adolescents (D) Yuel cllell
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T7. The term ‘informal sector’ was first
used by whom ?
(A) Keith Hart
(B) 1. Wallerstein
(C) Samir Amin

(D) Jan Breeman

78. In which type of State the leaders
seek total control of a nation and its
people ?

(A) Democratic
(B) Non totalitarian
(C) Totalitarian

(D) Representative democracy

79. Who has launched World System
Theory ?

(A) Andre Gunder Frank
(B) Immanuel Wallerstein
(C) David C. McClelland
(D) Wilbert Moore

80. “The Indecent Representation of
Women (Prohibition) Act” was passed
in which year ?

(A) 1981
(B) 1986
(C) 1991
(D) 1996

77. ‘Wl UAURS (Aadr vulEell YUH
Guallol s1Ql sl ?

(A) 38U &lé

(B) Y. ARl
(€) uHlr wHlat
(D) el oflallet

78. 52l YslRell AXAUHL aAcll, A v
Aol sl GuR AYyEl [Aaiswe AW B ?
(A) clsaudl
(B} ollot diypicuél
(€) dywleuel
D) YRR« Aswdl

79. (A cucreusl Rigid 519 el ?
(A) Wi ISR ¥oS
(B) SHoYuA Aol
(C) 3As . AssAcis
(D) @Qetwe 1R

80. “tll SSldee AUl 205 [Ret
(A8lollatet) slAEl” sl ctdHl uAR
g2 ?

(A) 1ecn
(B} 1¢c¢s
(C) 1e¢en
(D) 1¢es
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81.

82.

83.

84.

Which one of the following is
considered as a ‘new religious
movement’ ?

(A) Hare Krishna Movement
(B) Arya Samaj

(C) Bhakti Movement

(D} Sri Ramakrishna Mission

Which one of the following is an
example of trade or tourism fair ?

{A) Destination culture
(B) Linguistic culture
(C) Tourism policy

(D) Expressive culture

What is the term used when people are
moving out of a society/country ?

(A} Emigration
(B} Immigration
(C) Movement

(D) Journey

Where is the ‘National Sports
University’ located in India ?

(A) Delhi

(B) Chandigarh
(C) Imphal

(D) Guwahati

81.

82.

83.

84.

o{lAotHiell ‘otefl wlbls unaw sl
QiR $AAA & ?

(A) &2 Bl anan
(B) 2w Ay
(C) alsal AN

D) 3l AHBrett Ratet

ofl Aottuiell cauz Aol Yoot Nollej
53 GELERWL & ?

(A) catet dsld

(B) ewrugudlal gl
(C) Yelidet [Adl

(D) 3Lt 5l gld

w22 Sl AWs UM /e aHigl oelR
Bl del HI2 9 A0E AUAA B ?

(A) WBIR WUNLAR
(B) idRs Wnid?
(C) ¥ WEA

(D) YuLs<l

AR AML U AN A YRARTE sl
RAA & ?

(A) Bcdl

(B) d€lota
(C) 8151
(D) allelél




85. What is referred to “a unilateral | 85. Hiddtls ¥ Qdqcisell R YAl

kin-group based on either matrilineal

o el doly e2lA §- 9 ?
or patrilineal descent”?

(A) Caste (A) =suld
(B) Class (B) adl
(C) Clan (C) a0t
(D) Category (D) aQﬂ
86. Which is the smallest tribal 86. ARcHl Al sitell /gy v curll
community in India ? Ayela 52 D 2
(A) Gonds (A) 2US
(B) Santhals (B) dcl
(C} Andamanese (C) it
(D} Mundas (D) ¥siAl

87. ‘Shaman’is tribal counter part ofthe | 87. ‘g oy’ (Shaman) u1(g el

modern Ay el UYFLs ],
(A) Priest (A) yledl

(B) Leader (B) Acll

(C) Intellectual (C) ojlgeuall

(D) Magician (D) %gdNR

88. ‘A working mother having an ailing | 88. slal 52l Hlcll ollHlz cias WA W@ A

child’ is an example for what ? 8loj GElERQ B ?
(A) Role playing (A} st ersarll
(B} Role conflict (B) o5l dad
(C) Role model (C) yMst 2uedd

(D) Role cluster (D) efst o3y
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89.

90.

91.

92,

The concept of ‘contra-culture’ is
propounded by whom ?

(A) B. Malinowski
(B) W. F. Whyte
(C) Milton Singer
(D) R. Linton

Who is the founder of “The Green
Revolution” in India ?

(A) C. H. Hanumanth Rao
(B) D. P. Chaudhari

(C) M. S. Swaminathan
(D) Balwant Rai Mehta

“India spend” refers to what ?

(A) News portal

(B) Web application

(C) Play store

(D) Data journalism website

Which one of the following check
tools used for plagiarism ?

(A) Turnitin

(B) Originality check

(C) Word tune

(D) Online editor

89,

90.

91.

92.

‘(AR gl ol vauet Sloll sl %
5AAA & ?

(A) oll. Acllollarst

(B) solc]. W, cslefe

(€) Hlceat flo1R

(D) R. dleat

allRaMl ‘slRauoll sild et 2euus
sleL 8 ?

(A) ¥l A, sofHd A

(B) SLUL. Aludl

(C) A, Ay, el Hlolstot
(D) slocled A M3

“Sldal Wes” (India spend) 9
galld & 7

(A) AHRAUR HIZo] WA
(B) Aol WA}atet

(C) WA =R

(D) 32l wlildnu Aoage

o{lAottuiell 53] Gus?wl

AU BMell (plagiarism) AW
HER auRlA §?

(A) 2ellélet (Turnitin)

(B) ARERAAS As (Originality check)
(C) a§ 2¢ol (Word tune)

(D) Aectisel W32 (Online editor)
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93.

94.

95.

96.

Any small-scale test of a research
instrument, run in advance of the
main fieldwork inorder to test the
utility of the research design refers
to what ?

(A) Questionnaire
(B) Interview
(C) Pilot study

(D) Data collection

Which of the following refers to ‘surveying
and summarizing previously published
studies, rather than reporting new facts
or analysis’ ?

(A) Article
(C) Review article (D} Analysis

(B} Review

In what type of writing author’s
purpose is to inform or explain the
subject to the reader ?

(A) Persuasive
(B) Expository
(C) Analytical
(D} Experimental

Who has the opinion that ‘team’ is
the basic unit of analysis and not
individual ?

(A) Kingsley Davis

(B) J. Alexander

(C) Harold Garfinkel

(D) A. Giddens

93.

94,

95.

96.

BlESURL olloll Wl GUR Aglist
GusWlefll ustuell, yra Axla sial

udcll Aell Guallalldl usA A Adat
Alogell g eald & ?

(A) usiacl

{B) YIS

(C) yd e (Pilot study)

(D) HBl AsAs:w

UG ysifEld aAcl weale] udawl
UA URARASQL A MBIl cAM] dtlal
decll ¥ (QsAuRl UBAl dul? vdlLdl
9 eolld & ?

(A) au (uélsA)
(C) Auiall 2{lau

(B) udlan
(D) (QegAmut

sl YslRell AUIRIHL Amsoll &cf
clusal [Auaefl mesidl va augdl

wuclel gl B ?
(A) yHencaledl dld (Persuasive)

(B) Yol 89 (Expository)
(C) @QaAnauHs
(D) YaAoUeHS

‘c(sel ol b A (A el

HOed AsH O Acll Slell Ayl & ?
(A) Boud 3fly

(B) %®. UASHLoER

(C) &Aes s

(D) A. allset

L A




97. In the following which agency in

India is announcing the central
government programs ?

(A) UTI
(B} PTI
(C} AIR
(D) PIB

98. A child is considered to be a baby

between the age of
{A) O -1 year
(C) 1 -6 years

(B) 1 -5 years
(D) 1 -7 years

99, Which one of the following is correct

about ethnomethodology ?

(A) Macro sociology

(B) Micro sociology

(C) Certainly not macro sociology
(D) Certainly not micro sociology

100. Which perspective is based on the

assumption that Indian society
is unique and the Indian Social
Institutions can be better studied
through the texts ?

(A) Subaltern
(B) Structural/Functional
(C) Indological

(D) Civilizational

97. GIRAML Bos USIR gl ol Aotiniell

56 Aol selsil cadd & 2
(4) Y.L, (UTY

B) Jl. &l wus. (PTI)

(C) WA, UR. (AIR)

(D) L. 2. oll. (PIB)

98, cllsal 585 GuR Yl Al (Baby)
sdalA & ?
(A) 0 - oy B) 1 -uad
(C) 1-5 oy (D} 1 -9 oy

As QA stot (ethnomethodology)
Hi2 o{lAetuniell o Wy & ?

(A) GEE AR

(B) ¥&H AHIwAR

(C) HRUR GJeE AH s o3

(D) HRWHR YgH UHE A oA(d

99,

100. 5] WFYseal A el wan GUR 8,

¥ euRclla A WS (unique) B el
Rl A(Bs el ULsAYci5l
(texts) gl AR wewd 53| sl ?

(A) WRiBdcuel

(B) RustcAAla/stalcsalél
(C) eurc{la [Qausla

(D) ueAcllallel
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